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Write each expression in radical form.
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Write each expression in exponential form.
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Evaluate without a calculator. Clearly show work!!
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Evaluate with a calculator. Round te 2 decimals.
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Perform the indicated operation. SHOW WORK!!!! Circle the answer T Z_I:_fx__.__ '
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NOTI ¢

GRAPH FUNCTION AND ITS INVERSE (Label the graphs) LiNES Born INTERSEC
1) Graph the fanction and label with function lmtaJn/.// o AT POx)
2) Graph p(x)=x and label. < @ Fx) ond §-1( x) A
3) and the inverse of fumction. Then graph the inverse function and label with function vta &
notation. 2 b -y i MA6ES.
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Find the inverse of each function. Use function notation. Circle answer.
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